BT H

20224 12 8 165 H (R)

BLkw dk %k ckok Ak okook X EE N EE X ook o ok e ke
60O 0N GEGEE) TODOEEDEO®

= BEES | & | @ GROSS| HDCP | NET S g £z g4 RN GROSS| HDCP | NET & )

& BE|vTR Foll 44 44 [10.8 | 33.2|® BIfL =T FEkE 42 42 | 3.6 38.4

YEMRRE A4 BT 54 54 |19.2 | 34.8|K B2iL [ KE EE 48 48| 9.6 38.4
M| Bl E— 47 47 |12.0 | 35.0|H o3 | L MiTF 48 48 | 9.6 | 38.4
M| R R 52 52 |16.8 | 35.2|H SAfL |chfE  JRaK 48 48| 9.6 38.4
SOl A tEA 51 51 116.6 | 35.4 | 550 |AFE IEIE 54 54 [15.6 | 38.4
ehrisk H\A 44 a4 | 8.4 | 35.6|HK sefic [AH Al 54 54 |15.6 | 38.4
LA o S 49 49 [13.2 | 35. 8| 57 | kAt 2% 35 35 |-3.6| 38.6
sfr A ok 47 47 |10.8 | 36.2|H 580F |FRE . #E 41 41| 2.4 38.8
ofif | £E@ EE 47 47 |10.8 | 36 2|E Bofi |E FH 4] 4] | 2.4 38.6
1047 |3 47 47 |10.8 | 36. 2 |K B0V | A & 47 47 | 8.4 | 38.6 K
114ir | BaF  #Eak 47 _ 47 [10.8 | 36.2 107 | Fi  EF 47 47 | 8.4 38.6
120L [BTHE wE 52 52 |15.6 | 36.4 620\ | WF 47 47| 8.4 | 38.6
1340 | L =B 52 52 |15.6 | 36.4 63 |22BF 1EF 53 53 (14.4| 38.8
1445 | B4 Fnng 45 45 | 8.4 38.6 64T |TEF TEAE 53 53 |14.4| 38.6
1507 | #E8F  TEFR 51 51 |14.4 | 36.6 6507 |BF 18 46 46 | 7.2 38.8
16%|ZE i 51 51 [14.4 | 36.6 660 |15 FEZ 46 46 | 7.2 38.8
17{ic | %288 E 44 44 | 7.2 | 36.8 7L | FH MHF 46 46| 7.2 38.8
1817 | FBF 50 50 |13.2 | 36.8 887 [JIl L #ER 46 46| 7.21% 38.8
194 | A RERD 50 50 [18.2 | 36.8 O AR B 46 46 | 7.21 38.8
o047 | IR SEiE 56 56 [19.2 | 36. 8 [ TOf | FRIl SR 52 52 113.2 | 38.8|RE
AT S 56 56 [19.2 | 36.8 A EE T 52 52 113.2 | 38.8
220F | AR A 43 43 | 6.0 37.0 ToAL |#aH BEAE 52 52 113.2 | 38.8
9347 | % L 43 43 | 6.0 37.0 3L [Pl —B 45 451 6.0 39.0
240 | [ BLTF 43 43 | 6.0 37.0 TV (S == 45 45 | 6.0 39.0
2607 | BiIjI F&eR 43 43| 6.0 37.0 TE(L [{=A =T 45 45 | 6.0 39.0
W -H HE 48 48 |10.8 | 87.2 TOL |5FH Bk 51 51 [12.0] 89.0
27| fr B 48 48 |10.8 | 37.2 7 | By IEs= 51 51 (12.0 39.0
osfir|8n E% 48 48 |10.8 | 37.2 T8AL | =R oL 51 51 |12.0| 39.0
20| EH FRIG 48 48 |10.8 | 37.2 7967 |HEH WE 57 57 |18.0| 39.0
307 [Hd 54 54 | 16.8 | 37.2 [FH SOfT | Pt b2 44 44 | 4.8 39.2|FE
I | | RRE 47 47 | 9.6 | 37.4 AR 44 44 | 4.8 39.2
iR fOEE 53 53 |15.6 | 37.4 8oL |fHE  TE— 44 44 | 4.8 39.2
BN\ IRAE B 46 46 | 8.4 37.6 83 [ Rk E 50 50 [10.8 | 39.2
3447 |#Em HF 46 461 8.4 37.8 BANE [chils Tk 56 56 [16.8 | 39.2
35 | Bl [l 46 46 | 8.4 37.6 85{i 453 I IF 49 46| 9.6 39.4
367 [/NE  AafEE 46 46 | 8.4 37.6 B6fiL 1 dbdT HE | 49 49 | 9.6 | 39.4
IV | & TF 46 46| 8.4 37.6 B \HAH F-EE 49 49| 9.6 | 39.4
3867 | EEE #EA 39 39| 1.2 37.8 8sfir | H F TR 55 55 115.6 | 39.4
47 | —Z 45 45 | 7.2 | 37.8 89 |kl FEF 55 55 |15.6 | 39.4
407 | B4 51 51 |13.2 | 37.8|5RE Wi | KB EE 43 48 | 8.4 | 39.6|FE
4140 | S #65] 57 57 [19.2 | 37.8 LN [ I 54 54 |14.4 ] 29.6
4207\ HEF FEEE 44 44 | 6.0 38.0 9L [T MR 54 54 |14.4 | 39.6
4307 EE E— 43 43| 4.8 38.2 930 | R HE 54 54 |14.4 | 39.6
a4 (LT BRE 43 431 4.8 38.2 9Ar | B KE 54 54 |14.4 | 39.6
4607 | FH R 49 49 110.8 | 38.2 95y [{EF S5 47 47 | 7.21 39.8
4607 | TEEF R3A 49 49 [10.81] 38.2 FEVAESTN: 2 53 53 [13.2 | 39.8
ATHAL | <5 PEkE 55 55 [16.8 | 38.2 97Nz it HR 40 40| 0.0 | 40.0
AR (/NE B 55 55 |16.8 | 38.2 98fiL |k BT 46 45 | 6.0 | 40.0
40 (88 —i= 55 55 |16.8 | 38.2 WL | AT #E= 52 52 112.0 | 40.0

| 50fk|®E AA 42 42 | 3.6 | 38.4|RK 1000 |71 E— 45 45 | 4.8 40.2 K .

REFWHA L NI —2FT



. BT H T P-2
20224 12 H 15H (AR)

B Lk-p: dk * Kok ok odkok ® ok ok koA 3] e e K ok ok ok
NSO 06660 D2EOEOOTOD OR2EEEEDED

(g £ HHEA | ® | & GROSS| HDCP | NET % & g fiz BEEhE A T NIERE: GROSS| HDCP | NET % = )
101r | Em = 51 51 (10.8 | 40.2 15147 | A1l FERE 62 62 |18.0 1 44.0
1024 [FER 1B 51 51 |10.8 | 40.2 1524 | Bt B 62 62 |18.01 44.0
103 |FBHE EhE 50 50 | 9.6 | 40.4 15307 (O i ‘ 64 | 64 (20.0 1 44.0
10407 |BH #&— 50 50 | 9.6 | 40.4 15447 (2B =57 61 61 |16.8 | 44.2
10507 | FE[H REEE 50 50 | 9.6 40.4 15507 |HF # 60 . 60 115.6 } 44,4
1060 |30k BA-F 56 56 [15.6 | 40.4 15647 (R =F 53 53 ) 8.4! 44.8
107} B8 W% 56 56 |15.6 | 40.4 1872 |Hp g 65 65 120.0} 45.0
1080 | BB 49 49 | 8.4 | 40.6 1880 |50 EE 65 65 120.0 ! 45.0
109fr15FR F 49 49 1 8.4 | 40.6 1590 1M #BE 65 65 §20.0 ! 45.0
1107 uAxE 475 55 55 [14.4 1 40.6 16007 |¥rE  H5E 65 65 119.2 ! 45.8
A3 54 54 [13.2 ] 40.8 16107 [#iBF P 56 66 120.0 | 46.0
112{ | Bl E= 54 54 |13.2 | 40.8 1620F (B B#&F 66 66 [20.0| 46.0
11341 | BRE {244 54 54 (13.2 | 40.8 16307 | A ¥ 63 | 63 [16.8 | 46.2
1147 | HEF  EHE 54 54 [13.2 | 40.8 16407 |FnE  FENE 62 62 |15.6 | 46.4
1167 |75 m #3%E 60 60 [19.2 | 40.8 16607 (3 R 60 60 [13.2 | 46.8
116f [#2B 4+ 60 60 [19.2 | 40.8 166fif (R EFR 68 68 [20.0] 48.0
11 | s B 47 47| 6.0 | 41.0 167 [TH HET 73 73 |20.01 53.0
11842 L)) 2 53 : 53 [12.0 | 41.0 1680 |/ME  FER 81 81 [20.0 | 61.0
11907 |25 B 53 53 [12.0 | 41.0
12007 | iR #URE 53 53 [12.0 | 41.9
12| AR T 61 61 [20.0 | 41.0
12000 | IFA EE 61 61 [20.0| 41.0
123{F | = T 46 46 | 4.8 41.2
12400 | A 5P 52 52 [10.8 | 41.2
12547 | At BiE 58 58 [16.8 | 41.2
12647 | R =97 58 58 [16.8 | 41.2
1270 | W AT 51 51| 9.6 41.4
128t #F 51 51| 9.6 41.4
1294 | REF L 51 ‘ 51| 9.6 41.4
13007 | #AF  #iT 57 57_|15.6 | 41.4/
1314 | i E— 56 56 [14.4 | 41.86
1324 [ it B 55 b5 |13.2 | 41.8
13307 | B 2E 55 55 |13.2 | 41.8
1347 (/A 2 61 61 [19.2 | 41.8
13867 | A SHF) 54 54 [12.0 | 42.0
136pL| B8 I EF 60 60 [18.0 | 42.0
1379F | B0 =T 62 62 [20.0 [ 42.0
13847 | R Fnis 62 62 (20.0 | 42.0
139{ | T REE 59 - | 59 )16.8| 42.2
140fi7 |10 F3E 52 52| 9.6 | 42.4| .
I | BER BE 52 52| 9.6 42.4
142z | NB B 58 58 |15.6 | 42.4
143{if | G g 62 62 [19.2 | 42.8
1444 | R IEMA 55 55 12.0 | 43.0
L4547 | EBiE  #&F ‘ 81 61 |18.0 | 43.0
Tl46h | OE=E 54 54 [10.8 | 43.2
4T(F | Eis EETF 59 59 [15.6 | 43.4
48| B Xk 59 59 |15.6 | 43.4
149 | )1 & 52 B2 | B8.4| 43.6
(1500 | ERT AHF 63 63 ]19.2 | 43.8 )

RFWH VY=o 77



